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(a)lf only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow.

SBI CLERK 2022 / /mmat 11:30 v/ (@)

Statements: P<R<M:=L>0<V>Y
Conclusions: ILL > P I.O>R

Statements: A>B>D=F<E<(
Conclusions: LB > E II.D < C

Statements: A=E>D>C<F<B
Conclusions: 1.C< A INLA=C

Statements: F>N=0>P<K>T
Conclusions: L. K< F II. N< K
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top
floor numbered as seven but not necessarily in the same order. There are less than
three floors above A. Only one person lives between C and A. G lives immediately
below D. D lives on an even number floor. B lives immediately above A. F lives above E.
F does not lives on the 5th floor. F does not lives on an even number floor.

AT e 3rgTd | T, &Y, @Y, 31, §, v 3R S G 3rer9r-3rerer AT W Uh SART A WA &
ﬁ#ﬁ:maﬁrmﬁ maﬁmﬁﬂaﬁrmz%aﬁtsﬁrmaﬁﬁmﬂaﬁrmm
¥ ARPT TR AL TP T A FH| A F IR AT X FA A & CIRAF AT Faa T
afaFd WAT R G, D & 8 I T§dT ¢ | D Ueh HH HEIT ITell ATl I @dT ¢l B, AFH Sk
FUIIEATR| F, E & FUT IZAT 21 F, 5a1 AfSTor I T8l T@AT &1 F Ueh H HEIT dTell AfoTel I

CEEGG IR
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top
floor numbered as seven but not necessarily in the same order. There are less than
three floors above A. Only one person lives between C and A. G lives immediately
below D. D lives on an even number floor. B lives immediately above A. F lives above E.
F does not lives on the 5th floor. F does not lives on an even number floor.
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 Floors | Person 5. Four of the following five belongs to a group find tha4 ®.
one that does not belongs to that group?

frrfaf@d 9w & & IR wF wHF ¥ H6fta €, 98
AT HIAT ST 37 g ¥ FaAd 3 87

(a) CD (b) EC (c) FB (d) AB (e) GC

6. Who among the following lives on the top floor?

frfaf@a # ¥ sia ge@ 398 #Afca W war 2
(a) E (b) B (c) F (d) D (e) None of these

7. Number of persons lives above F is same as the number

of persons below __? Foh W Eﬁ'?ﬂﬁ' cgfaaar $r
&I ¥ A & affaar i T&ar & AT 872
(a) B (b) D (c) C (d) G (e) None of these
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8. How many floors are there above the floor on
which G lives?

oW #f9d W 6 TEdm &, 39% 3T fhde
#Afoa 872
(a) One (b) Two (c) Three (d) More than Four (e) Four

9. Who lives immediately below A?

A® F AT i Igar g2
(a) D (b) E (c) F (d) C (e) None of these
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A@3%4 ENMS8B8&6LDS®986QYZ17%RO

G¢2IBZU&K

10. Which of the following element is twelfth to the left of the twentieth element
from the left end of the given arrangement?

ffaf@a 7 @ Fl9 @1 dca & 1S gavryr F v SR F ¥ dca &
90 & dREd TI W g7

(a) 6 (b) & (c) M (d) S (e) None of these

11. If all the symbols are dropped from the series, which element will be
fourth to the right of the one which is twelfth from the right end?

gfe @it gl # s/@ar & ger Ryr e §, O i &1 dcq & OR
¥ TREd & g @ Atar Qe

(a) 9 (b) O (c) R (d) 7 (e) None of these
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A@B'%d- ENMS$SSB8&KO6LDS®986QYZ17%RO

G¢2IBZU&K

12. How many such numbers are there in the given series which are immediately preceded by a symbol

and followed by a letter?

& 1§ sEer # W fraet gEaw § ed &% e wE gdllE 30K 91 H uF W 82
(a) None (b) One (c) Two (d) Three (e) Four

13. Four of the following five are alike in a certain way and forms a group find the one that does not

belongs to that group?

frafaf@a o9 & ¥ IR v ARga alF & & A/ § 3R & gg 99a § 98 A
HIfST N 37 FHE ¥ AR 6 82
(a) 3E% (b) R#2 (c) M&S (d) DIS (e) Y72

14. What should come in place of question mark (?) in the following series based on the above

arrangement? 34% NSM 6DL 8Q6 ?
3NFA STEEAT & IR W Arafaf@d y@ar A wedars Reg (?) & T 9T F471 37T

qIfgu?

(a) %OR (b) 72% (c) O%R (d) R%O (e) R%7
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Seven peopleviz. P, Q, R, S, T, U and V are sitting around a circular table having
equal distance between them. All of them are facing inside. P sits immediate
right of Q. Only one person sits between P and S (either from left or right). U
sits third to the right of S. T is an immediate neighbor of U. R sits second to the
left of V.

|Td #197 37ATAI P, Q, R, S, T, U R V T JATHR AT F IRI I FART g WSS B
3T M FTAG I A AR P, QF SF e dorgl P 3 s F AT Faear v
FTdord (@At IrgR)| U, s F e A Y T W dSTR I T, U FT
fead T 81 R, V & 919 W gAY T W a1 8
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Seven peopleviz. P, Q, R, S, T, U and V are sitting around a circular table having
equal distance between them. All of them are facing inside. P sits immediate
right of Q. Only one person sits between P and S (either from left or right). U

sits third to the right of S. T is an immediate neighbor of U. R sits second to the
left of V.
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15. If all the persons are arranged according to the alphabetical"

order in anticlockwise direction starting from P, then how many
persons position will remain unchanged (except P)? Ife wafi

IfFdAT S P YRH HId 80 JHATET 6T A qUiTshA &
IR eqafya fFam orar 8, o fraer cafadl 61 Rufy
FREfET W (P BEF)?

(a) Three (b) One (c) Two (d) None (e) None of these

16. How many persons sits between Q and U, if counted from
the left of Q?

Q¥ T & s W 3k uF AET Faa safFa 33 &7
(a) One (b) Two (c) Three (d) None (e) None of these

17. Who sits second to the right of T?
TF G @ gl T W &l a1 82
(a) P (b) Q(c) R(d) S (e) None of these
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18. Four of the following five belongs to a group find the one
that does not belongs to that group?

frfaf@a 9= & @ IR s 9qg 4 wefta 8, 9%
maﬁﬁmaﬁwmﬁmﬁaaﬁ%’?
(a) va (b) PV (c) RT (d) SU (e) TQ

19. Who among the following sits second to the left of the
one who sits 4th to the right of V?

AfRf@d 7 @ il vd e @ Y Taea W 3
fFd & 90 § qEY T W &7 872

(a) U (b) T (c) R(d) S (e) None of these
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20. Statements: Only a few lamps are bottles.
No bottle is ship.
Conclusions I. Some ships are definitely not
lamps.

II. All lamps can never be ships.
(a) Both I and II follow
(b) Either I or II follows

(c) Only II follows. 21. Statements: All bamboos are sticks

(d) Only I follow.

No bamboos is a fish.
(e) Neither I nor II follows

Conclusions: I. Some sticks are fish.
II. No sticks are fish.

(a) Both I and II follow

(b) Either I or II follows

(c) Only II follows.

(d) Only I follows.

(e) Neither I nor II follows
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22. Statements: Only a few wells are mats.
All pillows are mats.
Conclusions: I At least some pillows are wells.

1. All wells can never be pillow.
(a) Both I and Il follow

(b) Either I or Il follows
(c) Only Il follows.

(d) Only I follow.

(e) Neither I nor II follows
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There are ten persons are sitting in two parallel row such that five persons are sitting in
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R.

A AR IFd A T AFTSHIPR d3 & P yAs dFa A g afFads &1 A, B, C,
DIREIRT 1 AISE 3R I A INIFAGE IR M, N, 0, p3iRRUBFT2H IS T 3ilx
STRIOT Y 3T 3 HR A3 ¥ ufFT 1 ¥ S caftraat w1 @ 9fFa 2 F 3 afFagi Ao
NPT AFAF ISR AANAINRAABIRABRTWISTRI PIRNF A
AfFd 4 81 B, P F O a1 38 AfFa 1 A I7AT@ I M, RF SF A da181 ¢, GfFT &
HTHA ST D, EF a1 F3T 81 D T W R AT 3T 81 81
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There are ten persons are sitting in two parallel row such that five persons are sitting in
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R.
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23. Four of the following five belongs to a group find the on;'
that does not belongs to that group?

ﬁmﬁﬁawﬁ#aﬂww#mﬁa% 98 AT
a‘hﬁmsﬁwm#mﬁaaﬁ%’?
(a)O(b)C(C)D(d)P(e)N

24. Who among the following sits second to the left of the
one who faces B?

ferfaf@a & & #ia B & 3T 7A@ FfFT & T @
gAY T WX AT ¥?
(a) R (b) N (c) O (d) M (e) None of these

25. How many persons sits on the left of N?
N& a1 3T fhaa IiFa 8 &2

(a) One (b) Two (c) No one (d) Three (e) None of these
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26. How many persons sits between D and C?

D 3IX CF ALY fhast =afFa 343 §2
(a) One (b) Two (c) Three (d) No One (e) Can’t be
determined

27. Who among the following faces A?

frrfaf@a F & fFasr 7@ A#r 30T 872
(a) M (b) N (c) O (d) R (e) None of these
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28. IF ‘He will Say’ is coded as ’1 3 9’ and ‘Say To Him’ is coded as ‘35 2’ and
‘He May Do’ is coded as ‘8 7 9’ then what will be the code of ‘will’?

IfE 'He willSay' H "1 3 9' & T H Hifsd AT AT § 3 'Say To Him'
H '35 2 & T H Hf2d FAT A7 § 3 'HeMayDo'# '8 7 9' &
T A I A1 197 g, a@ '$T HIS FAT 29T ASir'?

(a) 3(b) 1(c)9(d) 8 (e) Can’t be determined
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Eight personsi.e. D, Q, G, H, K, S, E and W are sitting around a square table in such a way that
four persons sit at the corner side of the table and other four persons sit in the middle side of
the table. The persons who sit at the corner side are facing away from the center and the
persons who sit in the middle side are facing towards the center. D sits at the corner side of
the table. One person sits between D and G. Q sits third to the right of G. Three persons sit
between Q and E. W sits second to the right of E. W is not an immediate neighbour of D. H sits
second to the right of K.

TS ATFT IATID, Q, G, H, K, S, E 3R W T FATHRR AT & IR A SHAIFR I3 & fF a”
qTFd A & Pl W 36 § 3N 3T IR ATFT AT F HCT AT A 83 &1 AT FA 13T
Yoot AT SafFaal w1 AW Hg 1 3N § 3R fiw F o arer cwfFawl w1 A FE A TR D
AT FFTWASTYI D 3N G F Mo rd aFadsrdi q, 6 FeA A Nat v R AT Q
3R £ F o et T fFT 4 &1 w, E T @ @Y T WAST ¢ W, D FT fashed# gt aigt

1 H, ¥ 3T & g ¥ATeT W ST 81 Fl
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Eight personsi.e.D,Q, G, H, K, S, Eand W
are sitting around a square table in such a
way that four persons sit at the corner side
of the table and other four persons sit in the
middle side of the table. The persons who sit
at the corner side are facing away from the
center and the persons who sit in the middle
side are facing towards the center. D sits at
the corner side of the table. One person sits
between D and G. Q sits third to the right of
G. Three persons sit between Q and E. W sits
second to the right of E. W is not an
immediate neighbour of D. H sits second to
the right of K.
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1. Who among the following sits second to the right of S?
?mﬁmaﬁ@msa:m@wwwaa
?

(a) Q (b) E (c) D (d) W (e) None of these

2. How many persons sit between D and W when counted
from the right of D?

é‘%ﬂ%m’f#ﬁaﬁwnsﬁtw%mﬂﬁmﬁwﬁw
?
(a) Three (b) Four (c) One (d) Two (e) None of these

3. Who among the following sits second to the left of G?

?mﬁﬁaﬁ#mea:aﬁ#{mmwﬂa
?

(a) D (b) K (c) H(d) S (e) None of these
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4. Who among the following are the immediate neighbours to each other?
frfaf@a & & i v qEy & Awecan g=il 82
(a) K, E(b) Q,D (c) G, H(d) W, S (e) None of these

5. Four of the following five are alike in a certain way and hence form a group. Find
the one who does not belong to that group?

frfaf@a o= 7 @ 9R e AfRga ol @ o= ¢ 3 sefaw v W@
ST 81 98 @t S 37 WA W HafSd a1 87
(a) E (b) D (c) G (d) K (e) H
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PA4SAWS58F91RE7203751B6KGN

6. How many numbers are there which are immediately preceded by a
vowel?

Ul [Fael gEae § Sdae Sif ggd U FEY 87

(a) One (b) None (c) Two (d) Three (e) None of these

7. If all the numbers are removed from the given series, then which among
the following element is seventh from the right end? gfe & 31? 81@?»“ H
¥ w3l gEgrt & ger Rar Sar g, O AeR@a &  Fla @
ded g R ¥ Add T 9T 2

(a) E (b) O (c) F (d) R (e) None of these
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PA4SAWS58F91RE7203751B6KGN

8. If all the consonants are removed from the given series, then which among the
following element is ninth from the left end? If¢ & 5 W q gt s ger
T g §, af Aeafaf@a & ¥ wi9 a1 9 9w sR ¥ Ald T W §?
(a) 2 (b) O (c) 3 (d) 7 (e) None of these

9. Which among the following element is fifth to the left of twelfth element from the
left end?

Afaf@a & & #ls a1 dcg 90 o @ IREd dca F IV F I TU
T g?

(a) F (b) 8 (c) 9 (d) 1 (e) None of these


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 Am/ @

A | 4
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Five persons A, B, C, D and E have different heights. Less than two persons are shorter than D. As many
persons are taller than D as shorter than C. A is taller than B but shorter than E. B is not the shortest person.

The height of third tallest person is 86 cm. U <gfad A, B, C,D3ﬁT E Y ﬁ'lé’ 3TeldT-3eldT %I a A
IfFd D& B §1 foas =afFa p{ @ § 3«1 &1 cH B 1 A, BH &aT ¢ oAfheT EX BT 31 B
HA9H BT AfFd A8l g1 S 99 o FFd fr 315 86 T B

10. If the height of shortest person is 68 cm, then what may be the height of B?
(a) 69 cm (b) 81 cm (c) 78 cm (d) All the given heights (e) None of these

11. How many persons are taller than C?
(a) None (b) One (c) Two (d) Three (e) None of these

12. Who among the following is just shorter than E?
(a) None (b) C(c) A (d) D (e) None of these
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13. Statements: All Greens are Yellows. No Yellows are
Black.
Conclusions: I. No Greens are Black.
II. Some Greens are Black.
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.

14. Statements: All Chairs are Sofas. Only a few Sofas
are Beds. No Beds are Curtains.
Conclusions: I. Some Sofas are not Beds.
II. Some Sofas are not Curtains.
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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15. Statements: Only a few Coffee are Tea. All Tea is
Drinks. Only a few Drinks are Cold
drinks.

Conclusions: 1. Some Tea is not Cold drinks.
II. No Coffee are Drinks.

(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(c) If either conclusion I or Il follows.

(d) If neither conclusion I nor II follows.

(e) If both conclusions I and II follow.

16. Statements: All Flowers are Trees. Only a few
Trees are Gardens. No Gardens are
Lawns.
Conclusions: I.  All Lawns can never be Trees
II. Some Flowers can be Gardens
(a) If only conclusion | follows.
(b} If only conclusion Il follows.

(¢} If either conclusion | or Il follows.
(d) If neither conclusion I nor 11 follows.
e) If both conclusions 1 and 1 tollow.


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ ﬂ

Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north
but not necessarily in the same order. B sits second from one of the extreme ends.
Three persons sit between D and B. Two persons sit between D and A. C sits to the
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More
than two persons sit between F and E.

T SAfFd A, B, C, D, E, F 3 G 9fad 7 35 § 31X qaft 1 7@ 3av &y 3R & aferat

ITETF Ag1 5 HH H 811 B I v AT SR A X TAT W 18| D 3B F i
dacafFadsgipsiRaFAaaiafFadsdic, AF SF a1 I dsaTgIF cF IS
3T dod1 8, AfheT ¢ F1 Aheasw =1 181 81 F 311X E & fiw Y § 31fas safFag daa &
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north
but not necessarily in the same order. B sits second from one of the extreme ends.
Three persons sit between D and B. Two persons sit between D and A. C sits to the
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More
than two persons sit between F and E.
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FDGCABE
17. How many persons sit to the left of F?
1 F&h 9 fhda e &8 &2

(a) Two (b) None (c) One (d) Three (e) None of these

18. Who among the following sits third to the right of G?
ffaf@a # @ #l7 6 F & § WX T W o7 772
(a) E (b) C (c) B (d) F (e) None of these

19. Who among the following persons sit at the extreme ends?
fArafaf@a & @ #i9 3ifaxw s W do1 §7
(a) FFA(b) A, E(c)G, E (d) F, E (e) None of these
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FDGCABE 20. How many persons sit between D and E?

D 3R EF #AeF fohda =gfga & &2

(a) Two (b) Four (c) Three (d) One (e) None of these

RERREER:

21. Who among the following sits to the immediate left of E?

farfaf@a & @ &l E37 8 I daT 87
(a) G (b) A (c) B (d) D (e) None of these
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